Project Management Practice Problem 3
Name__________________________________________

1. Calculate the estimated times and variances for each activity below.

T=( A +4M + B)/6               V = ((b-a)/6)2
	Activity
	IP
	A
	M
	B
	Expected Time
	Variance

	A
	---
	3
	5
	13
	6
	2.77777778

	B
	A, 
	2
	6
	13
	6.5
	3.36111111

	C
	A, 
	5
	9
	19
	10
	5.44444444

	D
	A, 
	3
	4
	5
	4
	0.11111111

	E
	B
	6
	7
	8
	7
	0.11111111

	F
	C,D
	2
	10
	27
	11.5
	17.3611111

	G
	C,D
	4
	8
	15
	8.5
	3.36111111

	H
	E
	4
	8
	15
	8.5
	3.36111111

	I
	E
	4
	8
	15
	8.5
	3.36111111

	J
	H
	5
	6
	7
	6
	0.11111111

	K
	I
	6
	7
	8
	7
	0.11111111

	L
	F
	9
	10
	11
	10
	0.11111111

	M
	G
	1
	2
	3
	2
	0.11111111

	N
	J,K
	4
	5
	6
	5
	0.11111111

	O
	L,M
	5
	9
	19
	10
	5.44444444


                   Sum of Variances of Critical Path = 31.13   Square Root = 5.58
2.  Fill out the following information for the project above.

	Activity
	T
	ES
	EF
	LS
	LF
	S
	CP

	A
	6
	0
	6
	0
	6
	0
	*

	B
	6.5
	6
	12.5
	13.5
	20
	7.5
	

	C
	10
	6
	16
	6
	16
	0
	*

	D
	4
	6
	10
	12
	16
	6
	

	E
	7
	12.5
	19.5
	20
	27
	7.5
	

	F
	11.5
	16
	27.5
	16
	27.5
	0
	*

	G
	8.5
	16
	24.5
	27
	35.5
	11.5
	

	H
	8.5
	19.5
	28
	28
	36.5
	8.5
	

	I
	8.5
	19.5
	28
	27
	35.5
	7.5
	

	J
	6
	28
	34
	36.5
	42.5
	8.5
	

	K
	7
	28
	35
	35.5
	42.5
	7.5
	

	L
	10
	27.5
	37.5
	27.5
	37.5
	0
	*

	M
	2
	24.5
	26.5
	35.5
	37.5
	11
	

	N
	5
	35
	40
	42.5
	47.5
	7.5
	

	O
	10
	37.5
	47.5
	37.5
	47.5
	0
	*


3.  Draw the network.

4. What is the estimated time of completion of the project?

                     47.5
5. What is the critical path for this project?

     A-C-F-L-O
6. What is the probability that this project will be completed in less than 45 weeks? Z = C-T/(
        (45-47.5)/5.58=.45=.1736
.5-.1736 = .3264 = 33%

7.  What is the probability that this project will be completed by 50 weeks? 

         50-47.5)/5.58 = .45 = .1736
.1736 + .5 = .6736 = 67%

